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The Ben-Porath model 27
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lally human capital is a very profitable investment, but the individual
inot produce enough of it, and so chooses s, = 1. Q, then declines con-
lously as one gets older reaching zero at retirement. Accumulated human
ital is computed by adding the annual investments. The process of adding
rly human capital investments yields a stock of human capital curve, K, as
icted in figure 2.7. Note that the stock of human capital increases quickly
he period when s, = 1. then more slowly in middle age, and stops increas-



Human capital specialisation
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Figure 3.2 The sequence of human capital outputs during and after school
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